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18.𝑝2 − 𝑝1 

22.單純相加 

25.取絕對值 length of 𝑧= (𝑎, 𝑏, 𝑐) is √𝑎2 + 𝑏2 + 𝑐2 之值除該向量 

33.同 25 

 

12.3 

4.8. 

內積(a, b) ∙ (c, d) = ac + bd 

Norm of v=(a,b,c) is √𝑎2 + 𝑏2 + 𝑐2 

the scalar component of u in the direction v is |𝑢| cos 𝜃 

𝑝𝑟𝑜𝑗𝑣⃑⃑ 𝑢⃑⃑ =
|𝑢| cos 𝜃

|𝑣|
v 

 

12.4 

3.6 

If u = a𝑖 + 𝑏𝑗 + 𝑐𝑘⃑⃑, j = d𝑖 + 𝑒𝑗 + 𝑓𝑘⃑⃑ 

Then, 𝑢⃑⃑ × 𝑣⃑ = |
𝑖 𝑗 𝑘
𝑎 𝑏 𝑐
𝑑 𝑒 𝑓

| 

16.𝑃𝑄⃑⃑⃑⃑ ⃑⃑ × 𝑃𝑅⃑⃑⃑⃑⃑⃑ =? 
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18 −4i − 2j + 5k 

22 5i + 3j − k 

25 length:3 ,the direction 
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33 the desired vector is 
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3, length=0 and has no direction   

  length=0 and has no direction 

6 length=1 the direction is J 

 length=1 the direction is - J 

 

 


